ANNEXURE-I

the distribution
any Distribution

connected to
system of
Licensee

(Rs. per unit)
S.No. Scenario Cost of | Cost of Power | Cost of Power | Transmissi | Wheeling | Total
Power grossed up for | grossed up for | on charges | charges Cost
at 5% | distribution transmission
Margin | losses (6.0%) losses (4.9%)
A B C D=C/(1-6%) E=D/(1-4.9%) F G H=E+F+
G
1 Generator is  connected to 3.18 3.38 3.55 0.35 0.14 4.04
Transmission network (EHT
voltages), while the consumer is
connected to the distribution
network (33kV and below) of a
Distribution Licensee
2 Generator is  connected to 3.18 0.00 3.34 0.35 0.00 3.69
distribution network (33kV or
below) of a  Distribution
Licensee, while the consumer is
connected to the transmission
network (132kV or above)
3 Both Generator and consumer are 3.18 0.00 3.34 0.35 0.00 3.69
connected to the transmission
network (132kV or above)
4 Both generator and consumer are 3.18 3.38 0.00 0.00 0.14 3.52




ANNEXURE-II

(Rs. per unit)

Scenario

Total
Cost

Railway Traction

Coal Mines

Industrial

Non- Industrial

AT.*

C.S.S.**

A.T.

C.S.S.

A.T.

C.S.S.

A.T.

C.S.S.

B

D

E=D-C

F

G=F-C

H

I=H-C

J

K=J-C

Generator is  connected to
Transmission  network  (EHT
voltages), while the consumer is
connected to the distribution
network (33kV and below) of a
Distribution Licensee

4.04

Not Applicable

5.60

1.56

4.66

0.62

5.13

1.09

Generator is  connected to
distribution network (33kV or
below) of a Distribution Licensee,
while the consumer is connected to
the transmission network (132kV
or above)

3.69

4.65

0.96

5.05

1.36

4.53

0.84

5.25

1.56

Both Generator and consumer are
connected to the transmission
network (132kV or above)

3.69

4.65

0.96

5.05

1.36

4.53

0.84

5.25

1.56

Both generator and consumer are
connected to the distribution
system of any Distribution
Licensee

3.52

Not Applicable

5.60

2.08

4.66

1.14

5.13

1.61

* A.T. stands for weighted Average Tariff

*# C.S.S. stands for Cross Subsidy Surcharge



